Final Exam Economics 365
This exam is due Monday at Midnight (Would you please print the exam and only submit the letters for each answer and the essays)
 
 Part 1   Multiple Choice (40%)
1. Scarcity
a. exists because people have wants that are unlimited relative to the availability of resources to satisfy those wants
b. creates a need for society to allocate goods according to some set of criteria
c. means that society and individuals must make choices
d. exists in all societies
e. all of the above 
2. In economics, capital is defined as (Think about the factors of production.)
a. natural resources, such as water, oil, and iron ore
b. the natural, unskilled abilities of people
c. human creations used in the production process
d. money and other financial assets
e. the willingness of business owners to take risks 
3. According to the law of comparative advantage, an individual should produce a good if he or she
a. can produce it with the fewest resources
b. has an absolute advantage of producing the good.
c. has the lowest opportunity cost of producing the good regardless of whether it is produced with the fewest resources
d. has the greatest opportunity cost of producing the good regardless of whether it is produced with the fewest resources
e. has the greatest opportunity cost of producing the good and produces it with the fewest resources 
4. The effect of a decrease in the price of laptop computers, other things constant, is likely to be best represented by which of the following?
a. a leftward shift of the demand curve.
b. a movement up along the demand curve
c. a rightward shift in the demand curve
d. a movement down along the demand curve
e. a leftward shift in the supply curve 
5. Which of the following will not change the demand for movie tickets?
a. a change in the cost of babysitting services
b. a change in the price of movie tickets
c. a change in the quality of television programs
d. a change in the income of movie-goers
e. a change in the number of consumers 
6. Which of the following would be most likely to increase the demand for downtown parking in a large city?
a. improved bus service to the downtown area
b. lower downtown parking fees
c. more downtown parking lots
d. more freeways leading to the downtown area
e. a major employer moves to the suburbs 
7. Attempts are being made to develop a biodegradable plastic using agricultural produce such as potatoes.  If these attempts are successful, what will happen to the equilibrium price and quantity of potatoes? (You may want to relate this question to what has recently happened with corn and ethanol.)
a. Price will increase and quantity decrease.
b. Price will increase and quantity increase.
c. Price will decrease and quantity increase.
d. Price will decrease and quantity decrease.
e. No change in equilibrium and quantity will occur. 
8. If an increase in the price of a product from $100 to $200 per unit leads to a decrease in the quantity demanded from 10 to 8 units, then demand is
a. elastic
b. inelastic
c. unit elastic
d. 0
e. inferior 
9. Two separate groups of people use New York City subways. One group uses them only during rush hour to travel to and from work.  The other group uses them only in midday for leisure activity.  If New York City wants to increase transit fares with the smallest possible reduction in revenue, for which group should it increase the fare?
a. The rush-hour group because its demand for subway service is more elastic than that of the midday group.
b. The rush-hour group because its demand for subway service is less elastic than that of the midday group.
c. The midday group because its demand for subway service is more elastic than that of the rush-hour group.
d. The midday group because its demand for subway service is less elastic than that of the rush-hour group.
e. It doesn’t matter because both groups have the same elasticity of demand. 
10. As price falls along a given demand curve for pretzels,
a. quantity demanded, total utility, marginal utility, and consumer surplus increase; consumer expenditure decreases.
b. quantity demanded, total utility, and consumer surplus increase; marginal utility and consumer surplus decrease
c. quantity demanded, total utility, consumer surplus, and consumer expenditure increase; marginal utility decreases
d. quantity demanded, total utility, and consumer surplus increase; marginal utility decreases; consumer expenditure might increase, decrease, or remain constant
e. quantity demanded, total utility, marginal utility, consumer surplus, and consumer expenditure all increase 
11. Suppose a lawyer leaves his $70,000-a-year job and starts his own firm breeding pit bulls.  In the first year, his accounting profits are $90,000.  The lawyer finances his new business with $100,000 from his savings account, which had earned 10 percent interest.  If this is all of the implicit and explicit revenues and costs his economic profit is
a. $10,000
b. $60,000
c. $70,000
d. -$80,000
e. -$90,000 
12. Farmer Fanny sells her crops in a perfectly competitive market.  If she produces 500 bushels for total revenue of $3,000 and if harvesting the 501st bushel would raise her total cost from $2,500 to $2,510, her
a. revenue will increase by $4 if she harvests the 501st bushel
b. revenue will fall by $4 if she harvests the 501st  bushel
c. average fixed cost will rise if she harvests the 501st bushel
d. profit will fall by $10 if she harvests the 501st bushel
e. profit will fall by $4 if she harvests the 501st bushel 
13. What is true at the profit-maximizing quantity for a nondiscriminating monopolist but not true of a perfectly competitive firm?
a. Price equals marginal cost.
b. Price is greater than marginal cost.
c. Marginal revenue equals marginal cost.
d. Marginal revenue is less than marginal cost.
e. Marginal revenue is greater than average revenue. 
14. Which of the following is common to all market structures?
a. All of the following are correct.
b. Each firm must be able to earn sufficient revenue to cover its variable cost in order to continue producing in the short run.
c. The demand curve for the firm’s output and the firm’s average revenue curve are the same.
d. If it can earn a profit, the firm should increase production as long as marginal revenue exceeds marginal cost.
e. Each firm must be able to earn sufficient revenue to cover its total cost in order to continue operating in the long run. 
15. Which of the following could explain an increase in demand for labor? (Think about our discussions of human capital.)
a. additional training that increases the productivity of each unit of labor in this market
b. an increase in the amount of risk associated with this job
c. a decrease in the amount of risk associated with this job
d. an improvement in the working conditions associated with this job
e. a decline in the working conditions associated with this job 
16. Which of the following affects the interest rate on a loan?
a. all of the following
b. the duration of the loan
c. the tax treatment of the loan
d. the administrative cost of the loan
e. the risk of default on the loan 
17. The marginal social cost of air quality increases as air quality decreases.  If the dirtiest production process would create 700 tons of pollutants, then
a. eliminating the first 20 tons of pollution is cheaper than eliminating the last 20 tons.
b. eliminating the last 20 tons of pollution is cheaper than eliminating the first 20 tons.
c. more damage will be done by the first 20 tons of pollution than by the last 20 tons
d. twice as much damage will be done by the last 20 tons of pollution than by the first 20 tons
e. the optimal level of air quality is to reduce polluting by 700 tons 
18. Which of the following is a positive externality of consumption?
a. Inoculations against a disease reduce the likelihood of transmitting it to others
b. Phosphates from laundry detergents
c. Litter from fast-food containers
d. Ozone depletion from the production of fast-food containers
e. The greenhouse effect 
19. Which of the following best expresses the benefit from international trade?
a. With trade, each country can concentrate on producing those goods and services where it has a comparative advantage.
b. With trade, a country can increase its political involvement on a global scale.
c. Increased U.S. trade will improve high-tech exports but not agricultural exports.
d. Increased trade will increase U.S. exports and decrease U.S.  imports.
e. Increased trade implies that exports of goods and services will always equal imports of goods and services. 
20. Over the last 20 years, in countries around the world (Recent events in the US may lead you to think differently but if you agree with the e-text and look  world statistics the answer is a. I hope you have discovered from this class the positive relationship between economic freedom and growth.)
a. markets are replacing central planning
b. central planning is replacing capitalist market coordination
c. economic systems are stable and unchanging
d. all countries employ the same system of resource ownership, resource allocation, and incentives to answer the basic economic questions
e. none of the above
 

Part 2 Matching (20%) 
Fill in the blank with the appropriate word or words from the list below: 
                                                21. _____________________Want-satisfying ability. 
                                                22. _____________________The ability to produce a good or service at lower opportunity cost than others.  
                                                23. _____________________ The change in total revenue of the firm that results from the sale of one additional unit of its product. 
                                                24. _____________________Positive net earnings, in the accountant’s sense, minus the opportunity costs of capital and of any other inputs supplied by the firms owners. Explicit and implicit revenue minus external and internal costs.
                                                25. _____________________Passed in 1930, this legislation established some of the highest tariffs in United States history.  Its objective was to reduce imports and stimulate the domestic economy. 
                                                26. _____________________The highest value alternative that must be sacrificed as a result of choosing among alternatives. The benefits foregone by undertaking a particular activity.  
                                                27. _____________________The scientific study of what is and how the economy works.  
                                                28. _____________________A market dominated by a few sellers at least several of which are large enough relative to the total market to be able to influence the market price (interrelationships must be considered in business decisions). 
                                                29. _____________________A firm or individual who takes the market price determined by market supply and demand as giving.
                                                30. _____________________The tax rates increase as a person’s income increases. 
 
Accelerator, Aggregate demand, Aggregate supply, Allocative efficiency, APC, APS, Balanced budget multiplier, Benefits-received principle, Budget deficit, Built-in stabilizers, Capital, Capital gains, Ceteris Paribus, Classical economics, Closed shop, Command economy, Comparative advantage, Complimentary good, Consumer sovereignty, Cost-push, Cyclical unemployment, Deflationary gap, Demand pull, Demand schedule, Depreciation, Derived demand, Discount rate, Discretionary fiscal policy, Dollar votes, Dumping, Durable good, Economic cost, Economic growth, Economic profit, Economic rent, Elastic, Excess reserves,  Exclusion principle, Externality, Federal Reserve, Fiat money, Fiscal drag, Fiscal  policy, Frictional  unemployment, Full employment, Full  production, Functional finance, G.N.P., Human capital,  Indifference curve,  Inelastic, Inflation, Inflationary gap, Infrastructure, Inverse relationship, Investment, Invisible hand, Keynes, Keynesian economics, Laffer curve, Laissez faire,  Law of diminishing marginal utility,  Leakage,  Liquidity, Long run,  MPC,  MPS,  Macroeconomics,  Malthus, Marx,  Marginal Cost, Marginal Revenue, Marginal utility, Market, Medium of exchange, Microeconomic,  Monopoly,  Monopsony,  Monetarism,  Money,  Multiplier,  NI,  NDP,  Nondurable good,  Normal  good, Normal profit,  Normative economics,  Oligopoly,  Oligopsony, Open shop, Opportunity Cost, Paradox of thrift,  Positive economics,  Poverty rate,  Price ceiling, Price floor,  Price maker,  Price taker,  Private good, Productivity, Profit, Progressive tax, Proportional  tax, Real  income, Recessionary gap,  Regressive tax,  Ricardo,  Say's Law,  Sherman  Act, Short run,   Smith,  Smoot-Hawley Tariff Act, Taft-Hartley Act,  Stagflation,  Structural unemployment, Tariff, Trade deficit, Turnover  tax, Union shop, Unitary elasticity, Utility, VAT, Veblen, Vertical combination, Wagner Act
 
Part 3 True-False-Why (40%) 
 T or F (1%) State why using complete sentences, defining terms, and giving examples (9%) 
1.  A competitive firm will stay in business in the short run if the price per unit is at least equal to average fixed costs. (Use the terms fixed, cost variable costs, marginal cost, marginal revenue and maximizing profits or minimizing losses in your response.)
2.  I could explain what would happen to the price and quantity of a good or service if demand increased and supply increased. (You do not need to quantify your response, simply use the terms increase, decrease, or it depends on the magnitude of the changes. Provide a scenario that might bring this about and use supply and demand curves for your explanation.)
3. Economics is a zero sum game.
4.  I can give two economic concepts supported by specific scenarios that I am using or will use in the future.
 

 

 

